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’ 100kN/mM%BZ % -l -~ = - 3m%Ei#BZ D = ~ = = —| 100kN/m%#8 2% = -~ = ~| 3m%EiBZ B -~ = = =
s 1.00{0.00 ~ 4.00 50.16| Z#Lst [0.00 ~ 400 2.09 10.58 Lo 1.00] 500 ~ 5.10 50.16] =xLls | 500 ~ 5.10f 2.09 10.58
9 100kN/mM%EBZ 5 -l -~ = - 3m%EiBZ D = ~ = = —| 100kN/m%#8 2% = -~ = ~|3m%EiBZ B -~ = = =
s 1.00]0.00 ~ 4.06 50.90| =#nLst [0.00 ~ 4.06] 2.19 11.06 Lo 1.00] 5.00 ~ 5.80 50.90| =nLls | 500 ~ 580 2.19 11.06
3 100kN/mM%EBZ 5 -l -~ = - 3m%EiBZ D = ~ = = —| 100kN/m%#8 2% = -~ = ~|3m%EBZ B -~ = = =
s 1.00/0.00 ~ 546 68.14| =xnLst 000 ~ 546| 1.83 9.27 Lo 1.00] 500 ~ 6.10 68.14] =hLls | 500 ~ 6.10f 1.83 9.27
4 100kN/mM%EBZ 5 -l -~ = - 3m%EiBZ D = ~ = = —| 100kN/m%#8 2% = -~ = ~|3m%EBZ B -~ = = =
s 1.00/0.00 ~ 553 69.08] Z=#kst [0.00 ~ 0.00[ 1.70 8.59 Lo 1.00] 500 ~ 6.10 69.08] =nLls | 500 ~ 6.10f 1.70 8.59
5 100kN/mM%EBZ 5 -l -~ = - 3mZE#BZ D = ~ = = —| 100kN/m%#8 2% = -~ = ~|3m%EBZ B -~ = = =
s 1.00{0.00 ~ 7.60 97.28| =nLst 000 ~ 7.60] 2.23 11.27 Lo 1.00] 5.00 ~ 10.10 97.28| =nLls | 500 ~ 10.10f 2.23 11.27
6 100kN/mM%EBZ 5 -l -~ = - 3m%Ei#BZ D = ~ = = —| 100kN/m%#8 2% = -~ = ~|3m%EBZ B -~ = = =
s 1.00/0.00 ~ 5.18 64.53| =xnLst 000 ~ 0.00| 1.67 8.45 Lo 1.00] 5.00 ~ 5.60 64.53| =nLls | 500 ~ 560 1.67 8.45
7 100kN/mM%EBZ 5 -l -~ = - 3m%EiBZ D = ~ = = —| 100kN/m%#8 2% = -~ = ~|3m%EiBZ B -~ = = =
L 1.00{ 0.00 ~ 5.60 69.98| =#Lst 000 ~ 560 1.86 9.41 Lo 1.00] 500 ~ 6.40 69.98| =nLls | 500 ~ 6.40( 1.86 9.41
g 100kN/mMZ#8 2 % -l -~ = —[3m%EBAS -~ = — —| 100kN/mM%E#Z5 = -~ = —-|3m%i#B2 5 o ~ = = =
zHnLs 1.00{0.00 ~ 5.08 63.26| =#Lst [000 ~ 508| 1.89 9.55 TnLst 1.00] 500 ~ 5.70 63.26] =Lyt | 500 ~ 5.70( 1.89 9.55
9 100kN/mMZ#8 2 % -l -~ = —[3m%EBAS -~ = — —| 100kN/mM%E#Z5 = -~ = | 3m%i#B23 o ~ = = =
s 1.00{0.00 ~ 475 59.20| =nLst 000 ~ 475 1.78 9.00 st 1.00] 5.00 ~ 5.00 59.20| =nList | 500 ~ 500 1.78 9.00
100kN/mMZ#8 2 % ~ 3mEHBAD ~ 100kN/mM%E#Z 5 ~ ImEEZD ~
Ths ~ ZhnLst ~ Lot ~ Zhust ~
100kN/mM%#8 2 % ~ 3mEHBAD ~ 100kN/mM%E#Z5 ~ ImEEZD ~
Ths ~ st ~ ZhnLst ~ Zhust ~
100kN/mMZ#8 2 % ~ 3mEHBAD ~ 100kN/mM%E#Z 5 ~ ImEEZD ~
zhst ~ ZhnLst ~ ZhnLst ~ Zzhust ~
100kN/mMZ#8 2 % ~ 3mEHBAD ~ 100kN/mM%E#BZ 5 ~ ImEEZD ~
Ths ~ ZhLst ~ ZhnLst ~ ZhLst ~
100kN/mMZ#8 2 % ~ 3mEHBAD ~ 100kN/mM%E#Z 5 ~ ImEEZD ~
zhst ~ ZhLst ~ ZhLst ~ Zhust ~
100kN/MZ#8 2 % ~ 3mEHBAD ~ 100kN/mM%E#Z 5 ~ ImEEZD ~
zhs ~ ZhnLst ~ LSt ~ Zhust ~ |
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